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Instuctions to the Candidates

el & forg fcw

Read the following instruction carefully
before you answer the questions.
Answers are to be marked on a
SEPARATE O.M.R. SHEET

1.

Please write your Centre Code No. and
Roll No. very clearly (only one digit in
one block) as given on your admission
card and even zeros appearing in the
Centre Code No. and Roll No. are
correctly written in the appropriate
blocks on O.M.R. sheet.
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3 W N.YA.AR. ¥ R 9! drae |
forey S |
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This test has two parts. Part | as well
as part Il consist of 90 questions in
each.

Each question carries one mark.

Since the time allotted to the two
parts of this question-paper is very
limited, you should make the best
use of it by not spending too much
time on any question.

Extra page has been provided for
rough work at the end of question
booklet.

Do not mark more than one answer
of any question on OMR sheet
otherwise answer will be cancelled.

Avoid cutting or over writting on OMR
sheet.

Attempt each question, there is no
negative marking in this test.

g gde B 9 W 2 | UdP W H 90
U B |

TP U Pl Udh b & |

4fF 39 UH-—13 B I 9NN @ fog
PR w9 it 8, safey sder
AfrHTA FGUART BT AR S g7
TR §gd §HY T SV |

ueq gRa®T & i A X6 (Rough) B &
fore affRea g e man & |

MTHIR. e RfFA Ny d vd d
3Hfrp IR HIP 9 B g1 IO A

B ST |

JATTAIMR. e W BT a1 3fer wrgfen
TP |

TS J¥T &l PIOTY, T G0 & B

ABRIHAD AH el 8 |
Note: Do not write anything except | Ic: 390 IRa® ¥ /= Jwwis forem
the Roll Number and rough mwmma}m.mw
work anywhere in the booklet. qﬁﬁ'ﬁﬂl _ ;
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Questions : 1 to 90

Directions : (Q.1to 3)

The numbers have been arranged
under some rule Based on that rule

which number will come in
question Mark?

Q.1 1,1,4,8,9,27,16,7
(1) 32

(2) 64

(3) 81

(4) 256

1,1,2,6,24,7,720
(1) 100
(2) 104
(3) 108
(4) 120

Q.2

4,6,9,13"%,7
(1) 17%
(2) 19

(3) 20%

(4) 22%

Q.3

place of the

W1

We 2

W3

PART -1 (¥11-1)
MENTAL ABILITY TEST
AfEd Argar gAer

frde(we193)
aiws P v @ s v ford g ¥ v P

2 FUR 9 YvarE® g P WE W IE
3 AT ?

1,1,4,8,9,27,16,7
(1) 32
(2) 6

(3) 81
(4) 256

1,1,2,6,24,?,720
(1) 100
(2) 104
(3) 108
(4) 120

4,6,9,13',7
(1) 17%

2) 19

(3) 20%

(4) 22%
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Q.4 How many triangles are in the
given figure ?

/\

(1) 6
(2) 8
(3) 10
(4) 11

Q.5 How many quadrilaterals
are there in the given figure ?

(1) 28
(2) 30
(3) 31
4) 32

Directions (Q.6to8)

A series of small letters is given which
follow a certain pattern. However
some letters are missing from the
series. You have to find out the right
set of letters from the given
alternatives that can be inserted into
the blanks of the series.

W4 ?ﬂimﬁﬁgcﬁaﬁmm [
? ':

A

(1) 6
(2) 8
(3) 10
(4) 11

W5 e i B e Ao €7

(1) 28
(2) 30
(3) 3
(4) 32

e (weeWs) |

S TuaTe B s B T Ajeen &
¥, o v fiftea w9 # ¥ P R @ |
T ¥ a3 v wa We 1 g g el
FA vy, FrRA R wF A AT
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Q.6 -aa-ba—bb—ab-aab.
(1) aaabb
(2) babab
(3) bbaab
(4) bbbaa

Q.7 -bc-ca-aba-c-ca
(1) abcbb
(2) bbbcc
(3) bacba
(4) abbcc

Q.8 -acca—-ccca—acccc—aaa
(1) acca
(2) caaa
(3) ccaa
(4) caac

Directions (Q.9t012)

In each of the following -figures,
numbers are written according to
some patterns and one number is
missing. Find the missing number that
replaces the question mark

Q.9

[6]03[15] [9]"

lo] ]|~
Al
'Y
-

W6 —aa—ba—bb—ab—aab.
(1) aaabb
(2) babab
(3) bbaab
(4) bbbaa

w7 —bc-ca—aba—c—Ca
(1) abcbb
(2) bbbcc
(3) bacba
(4) abbcc

b

W8 -—acca—ccca—acccc—aaa
(1) acca
(2) caaa
(3) ccaa
(4) caac

(w9 12)

i & T e gl d e Al w9
e g Wy fordl i ¥ ¥ A T W -
@ ¥ g e ¥ ) oo forg @ v

wRYgFE |

W9
5 (7] 1
[6]03]15] [9]2]5] [4]50
3 6 8

(1) 5
2) 19
(3) 27

(4) 89 Lol T Ian
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Q.10 W 10

X0 P 9| %Y B D@
5 B KK & &2 8K

(1) 84 (1) 84

(2) 195 (2) 195

(3) 240 (3) 240

(4) 150 (4) 150
Q.11 e 11

”
N\
o\ |2/~

o |w

R

5/1 |64\3
?/8
2

11 7 11\27| *
8 8
(1) 0 | (1) 0
(2) 8 (2) 8
(3) 125 (3) 125
(4) 216 (4) 216
Q.12 W12
42 | 44 | 38 42 | 44 | 38
23 | 55 | 28 23 | 55 | 28
37| 72 | 39 37 | ? | 39 [
(1) 22 (1) 22
(2) 33 (2) 33
(3) 66 (3) 66
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Directions (Q.13to 15)

In each of the following questions,
from the figures marked (1),(2),(3) and
(4), select the one which satisfies the
same conditions of placement of the
dot(s) as in fig. (x)

Q.13
D hHEOW
W\ th ) (R (Y}

Q.14
- Phle&@s
(\) (N Q)

(&) (4

Q.15

é’ . I. {41 i' { /
o 5; ._@ Y. A
AY B (4]

3 )

!

Directions (Q.16to 20)

Six books A,B,C.D,E,F are placed side
by side. C.B and E have blue covers
and the other books have red covers.
Only D and F are new Books And the
rest are old. A,.C and D are English
books and others are Hindi books.

Q.16 Which English book is new with
red cover?
(1) A
{2) B
(3) C
4 D

forder (W 139 15)

A1 R e wede wew ¥ ure R (1), (2),
(3) 7 (4) % @ e 3 ot BT S gfe
(X)W geriy T Reg (i) @ v B Refd |
AW A

w13

P

(X) (n (2)

oW
@

W14

B

X) §) (2) (3) (4
w15
S L
® WM @ @
e (w169 20)
6 y&i® A,B,C,D,E 71 F 7o Wil Y&l §% ¥
C,B o1 E @ il Tax ¥ wafd o gwiwl @
A BaR e, DA D 71 F 7E [ & A ¥
Qe qRFT ¥ A, C e D SHIol Y e g
IR D gD R
16 B T T SR R
(1) A - -_
(2) B
@) C
(4) D
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Q.17 Which two Hindi books are old
with blue cover?

(1)BandC

(2)BandE

(3)BandF

(4)EandF

Q.18 Which red covered Hindi books
is new?

(1)B

(2)D

(3)E

(4)F

Q.19 Which one of the following is the
old book of Hindi?

(1)C

(2)D

3)E

(4)F

Q.20 Which one is the old blue
covered English book?

(1)A

(2)B

(3)C

(4)D

Directions (Q.21to 23)

There is some relation between the
letters and numbers. On the basis of
same pattern, find the correct choice
among the given alternatives for the
given blanks.

W17 B R AN BB R g gerhy
¥?

(1)BaaiC

(2)BauE

(3)BaaIF

(4)EwnF

W18 I pAR B B W A A 7 gew
®?

(1)B

(2)D

(3)E

(4)F

w19 fFrefafem 3 @ 299 @ R A
qws k7

(1)C

(2)D

(3)E

(4)F

w20 frafafem 4 ¥ 299 @ QA s B
TATES A E?

(HA

(2)B

(3)C

(4)D

e (w219 23) .
f& 0 et o wemat @ o v e @
TR B¢ e ¥ RY T Rrwedt 4 A 7

ﬁmmaﬁhuﬁﬁaﬁﬁwﬁ:ﬂgﬂwﬂuﬂ
I ) S S § wvan e 2
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Q.21

Q.22

Q.23

A2

C4

E6

G3

15

M5

09

Q14

(1) J15
(2) K8
(3) K15
(4) L10

3C

27D

9E

71

21K

IM

4D

7J

(1) 11E
(2)28G
(3)351
(4)48F

Z4

X3

V9

A6

Cc2

T5

R4

P15

(1)E10
(2)E12
(3)S10
(4)S12

W 21

We 22

We 23

Scanned by CamScanner

A2 C4 E6
G3 15 ?
M5 09 Q14
(1) J15
(2) K8
(3) K15
(4) L10
3C 27D 9E
71 21K 3IM
4D ? 7J
(1)11E
(2) 28G
(3)351
(4)48F
Z4 X3 V9
A6 Cc2 ?
T5 R4 P15
(1)E10
(2)E12
' (3)S10
(4)S12




Directions (Q.24 To 28)

Study the figures carefully and answer
the given questions.

Here, big triangle represents artists,
small triangle represents scientists,
rectangle represents dancers and
circle represents doctors.

Q 24 Which letter represents the

artists, who are doctors and dancers
only?

;.
(
(
(

TOO>»

1
2
3
4

Q 25 Which letters represent the

artists, who are neither scientist nor
doctors?

(1) Aand B
(2) A andL
(3) Band G
(4) LandH

Q 26 Which letters represents the
artists who are dancers as well as
doctors?

(1)AandD
(2)GandA
(3)Band G
___(4)GandH

frdw (w269 28)
Rora = areh) ave @ sremgs o iR R g0 v

P I
/

el w1 Brw e B Tt ¥, vier frgw
At 3, s et @ AR ga Staesi B
e

W24 P W JER BFATBR ) LA ¥
Pac Sl iR Tar ¥?

(1) A

(2) D

(3) G

(4) H

W25 B I NG BB B Tvfar E o
A Iefre R AR T A sy ?

(1) A9 B

(2) AL

(3) BamG

(4) LeamH

Y26 IH Wl mmﬂuﬁuﬁmtﬂ‘l
mﬁ%mmﬁti’ -

(1)A@en D
(2) GaMA
(3)BTNG
(4)GaaH
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Q27 Which letter represents the
artists who are neither doctors nor
scientists nordancers?

(1) A

(2) D

(3) F

4) G

Q 28 Which letter represent the
scientist who are not artist?

(1) B

(2) D

(3) F

(4) L

Directions(Q 29 to 33)

A solid cube of each side 8 cm has
been painted red, blue and black on
pairs of opposite faces.. It is then cut
into cubical blocks of each side 2cm.
Give the correct answer by choosing
the correct alternative of the followed

questions.
/;.l L & Blus

Fom

Black

NN

x
M
Ny

2 1"1

NN

s

" \
NN
Q 29 How many cubes have no face
painted?

(1) 0

(2) 4

(3) 8

(4) 12

/;f;///

W27 WG JARFATPRI B FO N
Aol YR f b YA Emd?
(1) A
(2) D
(3) F
4) G

W28 @A A &R Ysnfrw B qwrir ¥ W
DAPRAL &7

(1) B

(2) D

(3) F

(4) L

e (we 299 33)

% 319w, R wos o 8 Ve W ¥, B
W HAE! D) AT, el 71 BT S I
¥ TUYYT 39 €9 B B U9 g8 9 UBR

e R % Wl Ao g7 av @t
6?/ -' : ﬁ Blue
ljb ? e [
ng \L\;\‘\\
AN M
VNN
NRRR

%29 fha 59 R ¥ e PR Hamw
R E?

(1) 0

(2) 4

(3) 8

(4) 12
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Q30 How many cubes have three
faces painted? .

(1) O

(2) 4

(3) 6

(4) 8

Q31 How many cubes have two
faces printed?

(1) 4

(2) 8

(3) 12

(4) 16

Q32 How many cubes have two
faces painted red and black and all
otherfaces unpainted?

(1) 4

(2) 8

(3) 16

(4) 32

Q33 How many cubes have only one
face painted red and other faces
unpainted?

(1) 4

(2) 8

(3) 12

(4) 16

Directions (Q.34to 36)

Which one of the answer figure would
occupy the next position in the
problem figure, if they continue in
same order.

B30 fres w9 ¥ ¥ e I o s
®?

(1) 0

(2) 4

(3) 6

(4) 8

%31 T REREH TR R E?
(1) 4
(2) 8
(3) 12
(4) 16

w32 fra uF W ¥ R v waE e
A TR S TR BT 1 ¥ T Y HAd WA
TAAE?

(1) 4

(2) 8

(3) 16

(4) 32

W33 frem = W & R v wag A
TR N ER WA AR R ?

(1) 4

(2) 8

(3) 12

(4) 16

e (e 34936)

wﬁ'ﬂmaﬁﬁmmﬂmﬂnﬂﬁha‘fa

T R SR AR F ¥ e @ v
gy ﬂf@ﬁ"

. 'I'-.' o
i ) _A
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Q34
Problem Figures

= /o A
Answer Figures
f\ ®
m @ @ @
Q35
Problem Figures
°© A . )
AN
VoL uleY o
Answer Figures
b o . 5 o o o
\vg Z\ 7\ i<
- o o
(1) () 3) (4)
Q36
Problem Figures
0 0 o ™
0 a m - o_ z
b-=i65-mxhgns SO go= os: =o 91370
c o 0 v
Answer Figures
| z r B
u v v L
Oteto|toeoljioroOljoTrbC
F 4 o - T
4 U U v
2 @3 @

(1)

Ve 34
HH Mo
A A
IR ATpfergi
® |[@
(1) (2) (3) (4)
Yo 35
T Ao
o -1 - 0
AN
\‘;/ ) &4 z"—\;/ o
SR Infori
S o e |v, © o
\Vg AN A L
s o o
(1) (2) (3) (4)
W 36
T rpfad
0 0 0 | | v
(8] a ] (4] z
n=L54l=h0A5sISO a0 =|OSk=0lot %10
(4] C 4] U
C Q 1] v [
SR ATHIel
n z F3 K
U by v i
Oteto|to el |ToxOl|Ot#00
F 4 n L4 T
Y i L A \Y
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Directions (Q. 37 To 39)

In each of the following questions four
figures have been given of which three
are alike in some way and one is
different. Choose the odd one.

Q.37
l_i_ __ "'\ .f"l\
'f iN JJ'D \[}%_;x
8} () (3) (@)
Q.38
Noa)o
%) (2) (3) 4)
Q.39

PAR® @%O O O O3
PO/ S Mg}“
3)

)

(n @
Directions (Q.40 To 43)
In a group of six members A,B,C,D,E
and F, there are two married couples. A
is brother of D's husband. C is very fat
and she teaches in girl's school. Fis an
advocate and he is a bachelor. B's wife
is not present in the group. Four
persons of the group belong to same
family.

Q.40 How many unmarried male
members are there in the group?

(1) One

(2) Two

(3) Three

(4) Four

e (we 379 39)

et W we 3 e s € §
o / AW sl el wer | w9 § 3R
s g e &1 = sngfa &t wifey

W 37

(1) (2) (3) (4)
W 39
o0 [OCOooO OJo
- < 0O o
Y O ? ﬂ_—.o o 05(%8\2"
(1) (2) (3) (4)
fdwi(we 40V 43)

TS TEHABEESE A, B,C,D,ETaF ¥l
ST A RERI YA, DRI BAERIC
T A ¥ T el @ e ¥ warh ¥ F
TS TP & 991 98 [ar ¥l B 3 oy wq ¥
Sy 718 ¥ TED UR wEw Ue & TRaR s
W

W40 wEH e s gev ¥l
(1) | y
(2) &
(3) d=

(4) am

Scanned by CamScanner



Q.41 Whois marriedtoC?
(1) A
(2) B
3) D
(4) E

Q.42 Four members from the same
family are:-

(1) AB,CandD

(2) A.C,DandE

(3) AD,EandF

(4) A,B,DandE

Q.43 BrotherofAis:-
(1) B
(2) D
3) E
(4) F

Directions (Q44 to 45)
Figure (X) is embedded in one of the
given four figures. Trace out the

correct alternatives.

2] AlAIAIL
- (DM EIH

(x) (1) (2) 3) (4)

w41 PFCARTMRAY?
(1) A
(2) B
(3) D
(4) E

W42 THHINIRAVARTIRTEEE ?

(1) A,B,CandD
(2) AC,DandE
(3) AD,EandF
(4) AB,DandE

W43 ATIAEE —

(1) B

(2) D

(3) E

(4) F
e (v 449 45)
(X)) RumsmarfRiddfddi@md
a1 : v v man ¥ SR Reea sifen)
Yo 44

(x) (1) (2) (3) (4)

We 45

D& |

(x) (1) 2 @ (4)
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Directions (Q46 to 47)

In each of the following question a
design/pattern is given one segment is
missing from the design, select the
alternative which will complete the

design when placed on the missing
area.

Q.46
2%
NN %, X
L) @ @ @

(x)
Q.47

X

b2

?

K%

(1)

(2)

(3)

4)

frdn (w469 47) |
PreaferfRae et 3 seiies ¥ v aifbraea/ |
fora e ¥ | v U siv g ¥l v R |
g ol ga M 9 Y@ R Afme e |
PG BIAMI

e 46

| %,

A | 5 \2‘& \5@‘ "15.‘(/ 6‘*{’/
YT @ e e
(%)

He 47

%

(x)

Directions (Q48 to 49)

In each of these question choose the
correct mirror image of the figure (x)
from amongst four alternatives given
along with it.

Q.48
] || b B G
Q.49
RN

(x) (1) (2) 3) (4)

(x)

\?4 ? (1) ()

3)

(4)

frén (v 489 49)

g 1o wesi % spfay (X) Tdor 3 S wdd
g 30, ar Ry v e § F w@
Bife| |

Ho 48
o [e] [e] )
N
Q Mm@ @ @
TWe 49

(x)
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Direction (Q 50 to 51)

In each of these question choose the
correct water image of the figure (x)
from amongst four alternation given
along with it.

Q.50

K| PRI

x) (DI ¢ B )| @

Q. 51

- (x) (1) (2) (3) (4)
Directions: ( Q. 52 to 54)
There are three families respectively
-NEGI, JHA and JOSHI. A,B,C,D.....etc
are name of family members. (M) and
(F) represent their sex. Understand
the question with the help of the
following diagram.

NEGI JHA JOSHI
C|D E|G
| @) (M) (F) ()| (F)
— 1 1 | [ |
H 1 J K L N 0
MM F M F ™M (M)
T
R(M)

P(M) Q(F)

Q-52. Howis OrelatedtoR ?
(1) Brother
(2) Uncle
(3) Nephew
(4) Meternal Uncle

e (we 50 @ 51)
firg g et 34 amggfdy (X ) 9T ¥ A A
faramd A, farg 1y ure et § @l

vty

W50
(x) 6D B ) B € (MJ
Yo 51

(x) (1) (2) (3) (4)
frdn (w529 54)

3, 71 sl wired 9 oRaR ¥ 18 IRAR D
wewi#mA, B, C, D, E, ... ¥ | 57@
am @ | (M) 3R (F) ¥, o 7@ foi &1
wafira o ¥ e sl & wE | v
T wAET|

NEGI JHA JOSHI

AlB clp J - E|lG
(M| (F) (M)|(F), (M) (F)

T 1 | I I !a

Ho L J K L N
M) (M) (F) (M) (F) (M) (M)
T 7T
R(M)

P(M) Q(F)
W52 O@RIAFTMTTHUE?
(1) wrd
(2) =rn
(3) wferen
(4) W
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Q-53.Howis K relatedtoN ?
(1) Brother
(2) Cousin
(3) Brotherinlaw
(4) Nephew

Q-54. Howis Qrelatedto 1 ?

(1) Sister

(2) Aunt

(3) Sisterinlaw

(4) Niece
Q-55. PXQmeans Pis brotherofQ;
P+Q means Qis motherofP;
P-Qmeans Qis sisterofP;
P+Q means Qis father of P;

Which of following means B is nephew
" ofA?

(1) BxZ+A

(2) B-X+A+Z

(3) BXZ+MXA

(4) BXZ+A

Q-56. In a code language “SURVIVE'
is written as VRIUVSE. How s
MONSOON a written in thatcode ?

(1) SNOOOMN

(2) SONOONM

(3) NSOOOMN

(4) ONSOOMN

W53 KHINQYaqaaak?
(1) W
(2) =emWTE
(3) wren
(4) wr=em

Qe AT EEaE ?
(1) af=
(2) =mh
(3) el
(4) WOl

e 54

PXQ 1 30 P,Q &1 418 ¥l
P+Q 131 Q,P P A EI
p-Q@ 3Rf QP B aE ¥
P+Q @1 3rf Q=@ e &

We 55

@t Prefafa 3§ 29 | g=a o 9l B,A
1 AATSA AT & ?

(1) BxZ+A

(2) B-X+A+Z

(3) BXZ+MXA

(4) BXZ+A

w56 afe 5 widfas W % SURVIVE
# VRIUVSE forn ww @ <&t wmm 3
Monsoon 3! ferar e -

(1) SNOOOMN

(2) SONOONM

(3) NSOOOMN

(4) ONSOOMN

| et

18

ol
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Q-57. If a boy is asked to put in a
basket one mango when ordered one
,one orange when ordered Two, one
apple when ordered Three and is
asked to take out from the basket one
mango and one orange both when
ordered Four. How many total fruits
will be in the basket if sequence of
orderis as under
12332142314223314113234

(1) 10

(2) 11

(3) 12

(4) 13

Q-58. Which group of letters will come
in place of question mark in the

following series ?

BDEHIJ? VWXYZ
(1) MNOP
(2) OPQR
(3) RSTU
(4) NOPQ

Q-59. How many pairs of letters are
there in the word PENCIL which have
as many letters between them in the
word as in the alphabet.
1. NIL
2. ONE
3. TWO
4. THREE

W57 TS ASD B AP N ‘TS T WIS
I '3’ FE W TS Al a1 A’ FEN W
@ 4 T B HE T TR AR BE W
T AT ¥ A vF I T9 1@ waw e
) e T, T 99 R g e e agER
A s A Sl A g fre wa E ?
12332142314223314113234

(1) 10
(2) 11
(3) 12
(4) 13

w58 fFrafafea saen & yemams fre @
T TR &R 1 DI TR AT 2

BDEHI? VWXYZ
(1) MNOP
(2) OPQR
(3) RSTU
(4) NOPQ

W59 PEACIL ¥ 3 31al @ e (R o
¥R S e A e o avfaren
P ITAREA R

(1) =

(2)t®

(3) =

(4)d
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Directions (Q-60to 62)

If the digits 0,1,2,3,4,5,6,7,8,9, are
substituted by a,b,c,d,e,f,qg,h,l,j
respectively so that 102 is written as
bacthen.

ef x df

Q. 80. cfxh

isequal to:-
eg x be
M) g

d bd
(2)

ce ¥ bd
(3) bi

(4) Eg:abf
Q. 61
(baf+bf)xdis equal to:-
(1) d
(2) be
(3) cd
(4) df

Q.62
The Value of bee +fg - {E%g-h}is equal to :-

(1) bhc
(2) bib
(3) bia
(4) bic

(w609 62)

aft 0,1.23,4,56,7.89 B B HAM:
a,b,c,d,e,f,g,h,i,j BV FEIf¥E FE W 102
#1 bac ferar s @ A —

Y61
(baf+bf)xd @ == T Bl
(1) d
(2) be
(3) cd
(4) df

W62
bee +fg -{ﬂ%m HIHE T B
=]

(1) bhc
(2) bib
(3) bia
(4) bic
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Directions (Q-63 to 65)

Select the diagram that best
represents the relation of terms given
inthese questions.

@0 @ €9 %

(1) (2) (3) (4)
Q- 63. Male, fathers, brothers

Q-64 Insect, Honey-bee, Scorpion
Q-65. Sky, Moon, Sun

Q-66. Sachin drives 10 km towards
east and turns to the right hand and
drives 3 km then he drives turning to
his right 3 km. He then turns to his left
and drives 1 km. Finally he turns to his
rightand travels 7 km.

How far is he from his starting point ?

(1) 6km
(2) 4km
(3) 3km
(4) 2km

Q-67. | start from my home and go 2
km straight. Then | turned towards my
right and go 1 km. | turned again
towards my right and go 1 km again.
If | am north-west from my home then
in which direction did | go in the
begning ?

(1) North

(2) South

(3) East

v (wee3d65)

thmﬁa\ﬁqwﬂhﬂ%
TR AS SUATEC T dl
r N\ (N
0o @ 9 %
(1) (2) (3) (£)
w63 gou, e,
®64 Bie, AT, g

w65 I, e, gl

w66 wRE 3 @ RRm # 10 B W
werd AR I = SR g o ¥ SR 3
e =ora 1 R 77 Il T RGeS 3
e T T ¥1 77 R IR A TE
a1 e T T Bl I A AT
2T e 7 e we ¥l 3F I IS
A R E?

(1) efdde

(2) afede

(3) 3ffe

(4) 2%

T 67 % 3T TR A oy A 2 50w
¥, 3 T g1 AR 1 5 T A g
T 2Td g9 3R 1 e T | A SR R
wo—uRe ¥ §, 7§ ved v R R |
aen il

(1)
(2)efem

(3)w
(4)of¥am

(4) West

21
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Directions (Q-68 to 70)

The first unit contains two figures and
the second unit contains one figure
and a question mark. Find out which
one of the answer figures should be
placed at question mark.

Q.68
Problem Fingers

X 0O+

' +|lo N| [0 X

Answer Fingers
X 0|X O|N OfX +

) N|T +( 1 +|N 0
(1) (2) (3) (4)

Q.69

. Problem Fingers

oo

Answer Fingers

» o ?

® @ @

(1 (2) (3) (4)

Q.70
Problem Fingers

]

Answer Fingers

RIBLRRREAN

(2) (3) (4)

A——

—

L | ?

frdn (w689 70)

Eel wanrd ¥ 2 srggfRvi ¥ T g v W v
Al we el W@ AT & ow
rgfl # @ wed fre B W W P @

Imgfay s

1]

@) 3) (4)
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Directions (Q. 71-73) In each of the
following questions one term in the
number series is wrong. Find out the
wrong term.

Q.71 5,27,61,122,213,340,509
(1) 27
(2) 61
(3) 122
(4) 509

0,2,3,5,8,10,15,18,24,26,35
(1) 18
(2) 24
(3) 26
(4) 10

Q.72

10,26,74,218,654,1946,5834
(1) 26
(2) 74
(3) 218
(4) 654

Q.73

Directions (Q-74-76). In each question
below are given two statements
followed by two conclusions.
Numbered 1&I1. Decide which of the
given conclusion logically follows
from the two given statements
disregarding commonly known facts.
Give answer

(1)  Ifonly conclusionIfollows

(2) Ifonlyconclusionll follows

(3) Ifeitherlorllfollows

(4)  Ifneither I nor Il follows

23

(w719 73)
Prefaftrs yee yva 3, wem 490 A 1 1%
e ¥ Tera g T W B

w71 5,27,61,122,213,340,509

(1) 27

(2) 61

(3) 122

(4) 509
w72 0,2,3,5,8,10,15,18,24,26,35

(1) 18

(2) 24

(3) 26

(4) 1
w73 10,26,74,218,654,1946,5834

(1) 26

(2) 74

(3) 218

(4) 654
e (% 74476)
ﬁﬁﬁfﬁawﬂﬁmﬂﬁmﬁm
2) frepd 1 7 11 27 770 & | o 9t &
&I 9 @R Ry U ) aawat i) amERa
aif¥a fPrepel 2 Fraifa &, 7 = sgar
TR S|
(1) aRfrddael
(2) uRfFeddaanal
(3) aRfred @i |
(4) wRFPATITIANA

g
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'Q-74. Statements : W74 qHA :

All books are pencils W e e

Some pencils are pens fo U, e
Conclusions. e

() Some pensare books (1) GBRTEDE

(I Nopenisabook (1) FENFIEETEE
Q-75. Statements: Y75 dqawIA:

All planets are moons. T UE, g,

All moons are stars W °Tg, IR E
Conclusions. forepy -

(I)  Allmoons are planets (1) whalgmRE

~ (I)  Allplanets are stars ()  wHreaE

Q-76. Statements: Y76 dqFdA:

Allforestarerivers. W AR E,

Noriveristree. PIE N T IS T &
Conclusions. | ' forepd :

()  Noforestisatree (1) AT teTRd

() Allrivers are forest (1)  w=RgiwEad

'Direction (Q-77 to 78) Adie is thrown | fdwi(we77178)
4 times and its four different position | v TR @ R R ¥ T 3 FUD TR

are given the figure. ﬁﬂ—ﬁﬁﬁﬂﬁu‘iﬁﬁﬁ;ﬂﬁ@r?ﬁ%l
S | 277
What numberis ﬁp posite to 3? ' 3*'&@3@?#'\@@[@1?1?
(1)1 (1)1
(2)2 (2)2
(3)4 (3)4
(4)6 - (4)6
R R 24
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QOO |

Opposite to which numberis 67

(1) 2
(2) 3
(3) 4
@) 5

Directions (Q. 79 to 80)

Select that lettered pair that expresses
the relationship that is most similar to
that of the capitalised pair :-

Q.79 DIRECTOR:FILM ::
(1) Novel: Writer
(2) Chair:Carpenter
(3) Poem:Poet
(4) Editor: Magazine

Q.80 DISTANCE : KILOMETER ::
(1) Weight: Kilogram
(2) Mile:Length
(3) Pound:Weight
(4) Gallon:Liquid

25

@“@

IR Avdae ¥?

(1) 2
(2) 3
(3) 4
(4) 5

fadn(w79¥80)
MR PITNAR BTSN R A FEI 2
T A FRS T P Y A B B

w79 frdvs: fen::
(1) ST AED
(2) o¥-wed
(3) =fam:sR
(4) wwaes: i

w80 A : RArarie:
(1) ww: e
(2) Hra:ewrd
(3) d:9R
(4) ¥om:z=m
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Q.81 Six student AB,C,D,E and F are | ™81 ABCDE W F v fudi v

sitting in a class-room in two - 3 2 WA Il 43 ¥ B,
equal rows. Bis sitting in 8 o A ¥o ¥ W 7 D B Wy
second row but he is not nextto 8 ¥ D T F -3 ufaerai A &
D.D and F are sitting diagonally TN I9D1 W el # A3
in different rows. C is sitting P WY C,F 3 W ugel ufda A ¥k
next to F in first row, wafd E gad ufde ¥ dar ¥ ve ufda
while E is sitting in second row. 4 Ryt ¥
The students sittinginfirstroware :-
(1) A,B,F
(1) A,B,F (2) A,C,F
(2) A,C,F (3) A,C,E
(3) A,C,E (4) C,D,F
(4) C,D,F
| (w829 83)
Directions (Q. 82to 83) s fAaf¥aa wis W § "CANCER, AIDS,

In a certain code language, "CANCER, | TUBERCULOSIS AND CIRRHOSIS ARE
AIDS, TUBERCULOSIS AND CIRRHOSIS | VERY DANGEROUS DISEASES.
_ARE VERY DANGEROUS DISEASE.| RESULTANTNOT CURABLE" ¥ 39 Y3R
RESULTANTNOT CURABLE" iswrittenas:- | feranmary-

"10203456789=+-v" "410203456789=+-v""

Q.82 TUBERCULOSISAND CANCER We82. TUBERCULOSIS AND CANCER

ARE CURABLE". willbewrittenas :- ARE CURABLE. & 39 W&R foran
W —

(1) 3416-0 (1) 3416-0

(2) 3216+0 (2) 3216+0

(3) 3416=0 (3) 3416=0

(4) 3416v= (4) 3416 v'=

Q.83 "RESULTANT CIRRHOSIS AND W 83. "RESULTANT, CIRRHOSIS AND

AIDSNOTCURABLE".is writtenas :- AIDS NOT CURABLE" & §9 Y&

(1) 0v'542+- foran T -

(2) +0542-v (1) 0v'542+-

(3) -+425v0 (2) +0542-v

(4) +02450= (3) -+425v0
(4) +02450=
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Directions (Q-84 to 88). In the following | w1 (% 84 88)
questions, the symbol @,#$,%,*are| fr=fifra gl 3 firg @#,$.%," T W4

used with the following meanings as frgy T ¥ R orf e R e eTeRwt #
illustrated below: X

'A@B' TIIMEA, B ATSITE Bl
'A#B' TS EA, B VTS A AEE
'ASB' T3 ¥ |ATAIB RasRRAAOE

A@B means Ais not grater than B
A#BmeansAis greaterthan orequaltoB

A$B means A is neither greater than nor
‘ less than B 'A%B' BIAEA, B WBRIE |

A%B means Ais less than B '‘A*B' T3 B AR B AR AR A § vl
" A'B means A is neither less than nor| 3 YIRS e st &, 7t § P per
| equaltoB wea ¥, wa o b Ry 5o i Frepst A A 2

Now in each of the following questions,| W/@AA i wua w8
assuming the given statements to be
true, find which of the three conclusions
Il and lll given below them is/are
definitely true,

. Q.84 Statements: K@L,L%N, E#N W84 Jq : K@L,L%N, E#N.
Conclusions forepd :
(NK%E (E*L (IMN*K (1) K%E (J1) E*L (1) N*K
(1) ®aa | 3R || FTE

(1)  Onlylandllaretrue
(2) Onlyllandlllaretrue
(3) Onlylandlllaretrue
(4) Allaretrue

(2) dad 13RI TIE
(3) Baet | 3R 11T E
(4) N EAEl

qe 85 T : DST,T*P,M@P

Q.85 Statements: D$T,T*P,M@P

Conclusion: forep :

() D*M (Il) M%T (lll) D#P (1) D*M (l) M%T (lll) D#P
(1) Onlylistrue (1) et | A
(2) Only|&llaretrue (2)Pae | 3R || G €
(3) Allaretrue (3)iwa®l
(4) Onlyl&]lllaretrue (4) 13R 11w E
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ﬁr_‘.c’i?-'-i-iﬂ-..'r-’w-: B

Q86. Statements: T#R, R%L, L*K
Conclusion
(NT%L (K*R (1) TEK
(1) Onlylistrue
(2) Onlylandllaretrue
(3) Onlyllandlll are true
(4) None oftheseistrue

Q87. Statements: N%S, S#V,V*M
Conclusions:
(1) M%S () N%V () N*M
" (1) Onlylistrue
(2) Onlyllistrue
(3) Allaretrue
(4) Onlylandlilare true

Q88. Statements: C$J,J%V,E@V
Conclusions
“(DE%J ()C*V (l)C*E
(1) Nonistrue
(2) Onlyllistrue
(3) Onlylllis true
(4) Onlyllandll aretrue

Q 89. The post office is in the East of
the school, while my house is in the
South of the school. The marketisin
the North of the Post office. If the
distance of the market from the post
office is equal to the distance of my
house from the school, in which
directions is the market with respect

tomy house?

A North

2 East

3. North —East
4. South West

——— T EREERRRRRR—S

pege T : TER.R%L: LK

() TL (I KRN T
(1) e | ¥
(2)3a | SR 11T E
(3)3 ::-fﬂlll'ﬂﬁ%l‘
{ﬂgqﬁ-\-‘qﬁﬁﬂﬁ‘lﬁ?l

w87 IIA: N%S, SEV, V'M |
forsed - '
(1) M3 (1) N%V (1) N*M

(1)@ | ¥dEl

(2)3Ta 1l TE

(3)w W El

(4)dad 1 SR INTHE

R 88 T : CS$J,J%V,E@V
sy -

(NESJ () C*V () C*E

(1) >R NwaTREl

(2)Fad 1| T
(3)BTAINwQE
(a)FT@ IR TR

w89 Ruew 3§ Tremw b vl R
T e 3 =i R § ¥ e od
TR ¥ AR TR A TR A @ RWE

e 30 2w t, A TR PN
i

(1)w=

(2)
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Q. 90 How many squares are in the| 90 4 argfeael s S
given figure ?

1) 101 (1) 101
Ezg 180 (2) 180
(3) 196 (3) 13?

(4) 2
(4) 204
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